MATHS BONANZA
The following maths tasks are all on percentages, fractions and decimals. I have inlcuded lots of different questions to keep your brains active and learning! There are some fluency questions, and also some reasoning and problem solving. Enjoy!
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Are these statements correct?

c© 45%is greater than 0.5 d 0.42is equivalent to 425

a 75%is greater than 0.5 (: b One quarter is the same as 50%

e You score 100% on a test. Your friend scores 20/20. You both received the same score.
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James goes on holiday. He has £100 spending money and spends it as outlined below.
Show this on the pie graph and label each section of the pie with the correct percentage:

o £25 onrides

o £35 on snacks

o £15 ow new trainers
(his pawrenty refuseds
to-pay for thes ashe

o £25 OW SOUVeNN'S
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Work out these problems.

1. Sam gets £5.00 a week. He saves 25%.
‘How much does he save?

2. 55% of the students in a class are girls.
What percentage are boys?

3. There are a 100 sheep in a field. 10 are black and the
rest are white. What percentage are white?

4. 5% of a litre of milk is cream.
What volume is cream?

5. In atest, Helen gets 85 spellings right and 15 wrong.
What percentage does she get for the test?

6. A car costing £500 is reduced by 30%.
What is the reduced price?

7. 25% of a number is 8. What is the number?

8. Sam buys a bike for £60. When he sells it, he makes
a profit of 15%. How much does he sell it for?
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n Write as a fraction and as a percentage.
53outof 100 % 45 outof 0

200 out of 800 100 out of 1000

n Find

40% of 50 80% of 60 100% of 300.

B Write as a percentage.
6 out of 60 18 out of 30 28 out of 56.

60% of this 2 metre
e anchor chain is rusted.
=35

What length of Alf’s chain is rusted?

5 Find +15%0f80 ____  123%of 1200. ____

n Write in two other ways.

79% 5

—_— 20— —

0-18 3%

. Write in order, starting with the smallest number.
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Percentages

There are 33 multiples of 3 less than 100.

The percentage of numbers that are
multiples of 3 in the first hundred

numbers is:

multiples of 3 | 33%

Write the percentages of these multiples in
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